
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B)Fill in the blanks with “IS” or “ISN’T”  
 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

A)Choose the correct adjective and make comparisons     
1) Elephants are .........................than horses.(big-small) 

2) A motorbike is ........................than a bike.(safe-dangerous) 

3) My grandfather is ..................than my father.(young-old) 

4) A Fiat is ...................than a Ferrari. (fast-slow) 

5) My English is .....................than my Maths. (good-hardworking) 

6) Brad Pitt is .......................than Mr.Bean. (handsome-ugly) 

7) Lake Van is ......................than Lake Beyşehir. (large-small) 

8) Mount Everest is ....................than the Himalayas.(high-low) 

9) The Nile is .....................than Thames. (long-short) 

10) A cow is .......................than a cat. (light-heavy) 
 

    

Name:Stewie 

Age:8 

Height:135 cm 

Weight:33 kg 

 

Name:Mike 

Age:15 

Height:165 cm 

Weight:62 kg 

 

Name:Chris 

Age:15 

Height:150 cm 

Weight:45 kg 

 

Name:John 

Age:8 

Height:165 cm 

Weight:45 kg 

 
 

1.Stewie ........as young as John. 6.Mike .........older than John 

2.Chris .........as tall as Mike. 7.Chris .........fatter than Mike. 

3.John ..........as old as Chris. 8.John ...........taller than Stewie. 

4.Chris .........taller than John. 9.Stewie ........older than Chris. 

5.John .........as young as Stewie. 10.Mike ..........fatter than Chris. 

 

 

Teddy bear wants to be taller,stronger,more 
intelligent,more hardworking,more 
famous,faster,more successful,more handsome 
than any other bears in the world. 
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